New Maths GCSE: G16 - Areas of Simple Shapes

5cm

To work out the area of this square you do...

4x5 B 5x5
Not enough
2% 5 n information

To work out the area of this rectangle you do...

4 X 4 B 4x10
Not enough
44+10+4+10 n information

3cm

To work out the area of this rectangle you do...

37 B 3+7

Not enough
3+ T+3+7 n information
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Correct Answer: ABCD

Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:



To work out the area of this parallelogram you do...

s+8+4+8 @ 22

n Not enough
information

4x8

7cm

To work out the area of this parallelogram you do...

9’2‘7 B 9+7+9+7

n Not enough
information

9x7

5cm
6cm
4cm

To work out the area of this parallelogram you do...

bxoxd B 6x5x4

6%5 B 5x4

To work out the area of this kite you do...

x5 B /82452

n Not enough
information

8x5

Correct Answer: ABCD

Explanation:

Correct Answer: ABCD

Explanation:

Correct Answer: ABCD

Explanation:

Correct Answer: ABCD

Explanation:
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R4
).

To work out the area of this kite you do...

B 7x4 a

Not enough
/72 2
7+ 4 n information

4cm

r_ ’6”"

9cm

To work out the area of this isosceles trapezium you do...

B4x6x9x7@ (32)x6

BoO+Hx6 B E2)xe

3cm

4cm

9cm

To work out the area of this trapezium you do...

3D x4 HE3x4%x9

(3 'lz' 9) X 4 n Not enough

information

5cm
To work out the area of this trapezium you do...

(Ct>)x8 M 6x5x8

(3 '; 3 ) X 5 n Not enough

information
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Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:



6cm

—
7cm

To work out the area of this isosceles triangle you do...

iy o=y B 6x8x7

2
A 3’ | 6x7

5cm
3cm
4cm

To work out the area of this right-angled triangle you do...

4 X5 3X4X5

x W 2x4xs
3X4

s B3x4x5

8cm
3cm
5cm

To work out the area of this scalene triangle you do...

3x5 3xX5x8
- [, [ELTLL)
5x8 None of the
2 n above
S5cm

10cm
To work out the area of this scalene triangle you do...
10X 5 10X 6 X8
2 2
10X 6 10X 6X8X5

2 2

Correct Answer: ABCD

Explanation:

Correct Answer: ABCD

Explanation:

Correct Answer: ABCD

Explanation:

Correct Answer: ABCD

Explanation:
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